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Marks : 45
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PART - I

‘ Choose the correct answer. .- 10x1=10
1. If |adj (adjA) | = |A]9, then the order of the square matrlx O S B o
1)3 2) 4 32 4)5 s
- A‘— cosf sinf 21 Y VIR R %
?. If 4= _gne cosd and A (adj A) =y k| thenK = | N
1)0 . 2) s_m 0. WAg : 3) cos e, 491
Jislie i Tep ot At : N
. IfA= 15 and %=1, ,|then |adj(AB)|=. | |
1) -40 2) -80 3) -60 | 4) -20
4. IfAisanon smgular square matrix of order n, ! then ]adJ A| .
) IAI" kL 2) AN - 3) IAI"+1 . @n
S ) ‘ 1 )
5. The conJucate of a complex number lS T2 then the complex number IS
,1) slichaid oo i i 2) i+ 2 3) S i 4)1—2 s
6% SNt \z=2+ i< 2 then the greatest value of lzl is il
: a)fz , “2)\/_+2‘ . 3) 5= 2 ) VA
7. Ifaand p are the roots of x2 + x + 1 = 0 then ¢2020 4 32020 js -
; 1) =2 ooy Ry <10 3)1 - 4) 2
8. 1000 4 1001 4 {1002 4 i1003 > & ' Ko A
‘ 1)i : C2) i - ‘3)“0, 4y 1
9.._Azeroofx3+64ls S 25 R EehuC i T e
- 1) 0. i phie )l 3)4 4) -4
10. Ifa, p-and y are the zeros of x3 + _px,.21+ qx +1, then EE is
o g V.: - éq
EVEE . " AR 1 )T
: PART II WAgE e 44 ‘ \
Answer any three questlons Q No. 15 is. compulsory - 3X2=6
cosd —sind] IAESNER | :
~ 11. Prove that | smB Ry lS orthogonal » '
12. X + y = 3 22X + 2y = 6. Whether Cramers Rule can be used? lee Reason '
13.

-
If 21 = 3 2| and Z; = 6 +4i f‘nd Z, in the rectangular form.
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14.
15.

16;
17

18.
19,

20.

21.

22.

23,

24.

Xy T
‘) ;.'.;__ 2cos(a-—-ﬂ) ") xy - ;‘)‘: = 2isin (a + b).
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Simplify : 11947 + j 1950, ‘

Find a polynomial equation of minimum degree with rational coefficients, havint

2 — J3i as a root. RN N | '

‘ : PART - IIX

Answer any three questions. Q.No. 20 is compulsory. 3X3=1t
; 18 4

If A 53 venfy that A (adJ A) = (adj A) A ='|A] I,.
: f :

1 2 3
Find tﬁe‘.rank of the matrix 2714y,
13 o 5| o | ’
If |z| = Zshowthat 3<|z+3+41|<7 o gl N .
Write in polar form of the complex number 3\- ;J§ o . PN

Form a polynomial equation with integer coefficients T .as a roots. -

o PART - 1V [ .
Answer all the questions. R 484X 5-=~2
a) Solve by Cramer’s rule the system of equatlons RS g s ;:
X1 = 2_3 2x1 + 3%z +4x3 =17,x3 +2x3 —7(OR)

: 2z+1 sk
b) Z =X + iy is a. complex member such that Im | 7+ 1}— 0. show that th

locus of zis 2x2 +2y2 + X -2y =0. . . - ¢
a) Solve the followmg system of linear equatlons by matrix inversion. method. :
X+y+z-2=0; 6x- 4y+52—31-0 5x+2y+22—13 (OR)

b) Find the cube roots of /3 +i . |
a) By using Gaussian elimination method, balance the chemlcal reaction equatlo

CoHg + 02 -—> H20 + COy . ' ‘ (OR)
. -1 3 1 '
, b) Show that the pomts 1 —2-+z-‘7§- and —2—.—1—\;—_ are. the vertlces of a
equilateraltnangle ) e b Y g,

“a) Investigate for what values of A. and n the system of linear equatlor

X+2y+z=7, x+y+Az=y, X+3y-5z=5 has"
i) No solution. ii) a unique solution i) an infinite number of solut:ons (OR,

b) Ifcosa = x+ - and2cosp= Y+ ;xshow that. -
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